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Alpha Numeric Symbol Series Questions for SBI Clerk Pre, IBPS
Clerk Pre and IBPS RRB Exams.

Alpha Numeric Symbol Series Set 15

Directions: Study the following information carefully and answer the questions given beside.

AE%6YBR&H#HPUW®O2IS3*LOMYV

1. If in the above sequence starting from B to $ is written in reverse order, which
element will be the fourth to the left of 15th element from the left?

A.U B. # C.P D. % E. None of these

2. How many such letters are there which are immediately preceded by a letter and
followed by a symbol?

A. Nil B. Only one C. Only two D. Only three E. None of these

3. If every letter in the given sequence is replaced by the previous letter in the English
alphabet, which element will be the second to the left of the ninth element from the right
end?

A.© B. X C.W D.V E. None of these

4, E%Y :MO*:: ? :0L3

A. %B6 B. %6Y C. %EY D. %6B E. None of these
5. Which of the following statements is correct with regard to the position of ‘R’ in the
sequence?

A. It is 7th to the left of the 11th element from the right
B. It is 8th to the left of the 15th element from the left
C. It is 5th to left of the 10th element from the left

D. It is 4th to the left of the 10th element from the right
E. None of these




Correct Answers:

1 2 3 4 5
A D D D B
Explanations:
1. The resultant position = 15th — 4th = 11th element from the left

Now, while counting from the left, we’ll start counting from A and will keep on counting till Y. After that we'll
continue counting from $ towards the left and will finish on the 11th element in the count.

Doing so, the 11th element from the left = U

Option A is hence the correct answer.

2. AE%6YBR&#PUWO2IS3*LOMYV
Following the sequence above, it’s clear that there are 3 such permutations.

Option D is hence the correct answer.

3. The resultant position = 9th + 2nd = 11th from the right
Counting from the right, the 11th element is W and the previous letter to W in English Alphabet is V.

Option D is hence the correct answer.

4, Following the analogy, %6B fits the blank.

Option D is hence the correct answer.

5. AE%6YBR&#PUWO2I$S3*LOMV
Checking each of the options,
Option A: 7th to the left of the 11th element from the right
Counting the 18th element from the right end, we get Y. Option A gets eliminated.
Option B: 8th to the left of the 15th element from the left
Counting the 7th element from the left end, we get ‘R’.

Option B is hence the correct answer.
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